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Y IRLR & [ 200 g 86 43 | HEADA — — — —
LA = B 250 g 108 86 | 5 U ERE S 10 ke 6, 480 3, 564
ZED & [ 200 g 86 43 | Ut — — — —
EONAED = 200 g 64 43 | 7o w7 — - — —
HFhRE A S 150 ¢ 64 — | 72— = B 250 g 129 86
LwAEL x K 180 g 108 54 | WD = R 250 g 270 140
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PN A T 10 ke 1,728 1,404 | 7—IL AR AT % [ 9 ke| 12,960 11, 880
FEEEIZA L A w5 10 ke 2, 160 1,296 || 3\ g K 15 ke 7, 560 4,320
X< & v 15 ke 1, 404 648
X XY = M 10 ke 1, 080 756
L& A k E 10 ke 1,728 864
oY FiE =S 5 ke 1, 782 —
Ach w5 2 ke 864 648
h=< K BB K 4 ke 1, 404 —
B— (S 150 g 70 —
EIAED FaER L 2 ke 2, 268 1,728
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IFh Lok BIRE 10 ke 2,916 2, 700
mERE It & 20 ke 3, 348 3, 240
A LW ™ B 100 g 172 86
LU £ ¥ 100 ¢ 64 34
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¥ <A — — — | 'Y F 1 kg 3, 456 1, 080
HESCAHE — — — | P J VT o — 1 kg 1, 296 702
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A 1 ke 3, 240 216 | A& FaK L 1 ke 1, 458 —
AT 1ke 583 151 | U A E B 1 ke 5, 400 1,728
AN A A H — — — | BT+ r= JbiEE 1 248 162
EANCAS & 1ke 1,814 378

&5 A 1 ke 1,728 216
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INTE 1 kg 2, 700 324

Vs 1ke 1,512 594

AR 1 ke 5, 400 2, 700

Y 1 ke 864 324




